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Y FR & ¢ sty # @afv v SE F gER B ggEiae?

SOLDER = ®e=X
Ans X 1. Uehd Tfthd T1eieh # €U S (Tap joint in single stranded.conductor)
o 2. fefoar S (Britannia joint)
X 3. 3% gfae Sits (Western union joint)
25 4. 8Rs g (Married joint)

Question Type : MCQ
Question ID : 630680349248
Chosen Option: 3




¥ amgfy & Ru 7T Al 9@ # qg=iae?

Ans o 1. diffies IATSIT 1Y i S (Compound excited short shunt generator)
25 2. ufderyor Aiez, f&at thet (Repulsion motor, single phase)
75 3. AC 2-ar ST (AC 2 wire generator)
X 4. 9ifires 3T e *fe S (Compound excited long shunt generator)

Question Type : MCQ
Question ID : 630680349282
Chosen Option : 1

Q.3 Which of the following parameters is inversely proportional to flux in the magnetic core?
Ans X 1. Permittivity

#X 2. Current in amperes
< 3. Number of turns

" 4. Length of magnetic path in meter

Question Type : MCQ
Question ID : 630680349259
Chosen Option : --

Q.4 Which of the following applications is done by 3 element 3 wire type wattmeter?
Ans X 1. Measurement of power in unbalanced system

< 2. Measurement of power in both unbalanced and balanced system
25 3. Measurement of power factor

& 4. Measurement of power in balanced‘system

Question Type : MCQ
Question ID : 630680349270
Chosen Option : 2

Q.5 f=fafEa & @ wi=-a1 ey, 7egs ufaRia (Medium resistance) T IgTgRoT 872
Ans X 1.9t DC #fi i & omdeR.ofk TR e ufasty

X 2. orfteR sfe

o 3. 2T &7 ufoRiy

X 4. IueHOTT, Shaell a1 fggertel uferier

Question Type : MCQ
Question ID : 630680349256
Chosen Option : --




Q.6 Which of the following is the correct statement of PVC conduit in comparison with metal
conduit?

Ans X 1. More physical protection
5 2. Work as good earth continuity through conduit
¥ 3. No risk of electric shock due to leakage

< 4. High weight

Question Type : MCQ
Question ID : 630680349288
Chosen Option: 3

Q.7 faega-amara (electric shock) & formr s &1 A= &r 719 ampfay gawT efrar w32

Ans X 1. 49 deeft et (Respiratory trouble)
X 2. gTé 3R (Heart arrest)
X 3. faerhY fadhu= (Ventricular fibrillation)
& 4. T8 (Prickling)

Question Type : MCQ
Question ID : 630680349277
Chosen Option : 2

Q.8 Tf%0.14 cm =TT a1 15 m shHATH AR a1 ufaRiy 3.75 31 &, &l ShifAae dar =1 fafe ufadyg
fere ghm?

1. 3850 p 3T cm
X2 1256 p HHF cm
X3 4262 u 3HT cm
X4 2166 u 3HT cm

Ans

Question Type : MCQ
Question ID : 630680349253
Chosen Option : --




Q9 Fr=fafEm & & sivar Resy J R o 9fy st & fFeTs & o/ T & e @S a9
B = 32

Question Type : MCQ
Question ID : 630680349252
Chosen Option : 1

Q.10 Cable loop tests work on the principle of

Ans X 1. Consumption of energy principle
" 2. Wheatstone bridge
/< 3. Faraday's law
5 4. Ampere's law

Question Type : MCQ
Question ID : 630680349255
Chosen Option : 2

Q.11 fafaf@a 7 @ #9-91 dhaye YR (conduit type), SIS ek ThIT (brown color scheme) ZRT
Z2rfar ST 8?7

Ans o 1. 97 gieear shege (Low voltage conduit)
75 2. AR shege (Power conduit)

X 3. guiwg dege (UPS conduit)
X 4. 3ty Hahetes Shege (Fire alarm conduit)

Question Type : MCQ
Question ID : 630680349291
Chosen Option : 4

Q.12 FfafEa & @ wi- af, e af2y 78 arh s &2
Ans X 1. dleedr

X 2. dffgy afs

X 3. 9RT

o 4. Fl

Question Type : MCQ
Question ID : 630680349264
Chosen Option : 4




Q.13 =g g1 @1 g A (Right Hand Grip Rule) &1 3uaivt @t AufRea et & forg fopar s
TehdT g1

Ans X 1. g9 gRT RN Y fE=m
X 2. g feam
X 3. URI gRT 3= &7 aht feam

o 4TI &7 A feam

Question Type : MCQ
Question ID : 630680349258
Chosen Option : 2

Q.14 "SI Yeh Yoleh ohl Tl T A FAhTT SITdT &, a1 I ¢Jd T ot Tg IR AR afeyor Hi fem &

fafafae d @ FiF-ar gadhia o1 3w Ry 1g wu @ d@65fda 82

Ans X 1. ga-faemm o1 (Poles-existing property)
X 2. 3T TOT (Attractive property)
< 3. IROT 77 (Induction property)
o 4. feararen 7T (Directive property)

Question Type : MCQ
Question ID : 630680349257
Chosen Option : 4

Q.15 fasTeft @ St (electric burns) R Hif3dl ur wi=-a1 UHTa Iu= ghar 82
Ans o 1.7 TR G AT gl

X 2. 3ifdrehaR, fatos Y Teg Y 3at STet STaRThdT gl gidt|

X 3. 50 forg Wes ofik AmuRfea SR i smasaenar el &l Tend |

X 4. 798 93 &5 &l gfad & 3

Question Type : MCQ
Question ID : 630680349237
Chosen Option : 2




Q.16 mﬁ@ﬁé-ﬂé— DC mﬁa:'\q'gﬁ' ATH & BRI aﬁl

L+ ©

L- O
Ans X 1.9 gfc @it @it AR (Short shunt cumulative compound motor)
X 2. & <fe It F@iffes 7lex (Long shunt cumulative compound motor)

o 3. {1 2ie fadeas Fiffies Atex (Long shunt differential compound motor)

X 4. @9 gfe fawige diffies Aiex (Short shunt differential compound motor)

Question Type : MCQ
Question ID : 630680349278
Chosen Option : 2

Q.17 Which type of problem is caused by a Defective or incorrect starter in a fluorescent lamp?
Ans & 1. Both blinks and fails to start

#5 2. Bulb flickers or blinks
#5 3. The tube fails to start
X 4. Ends of bulb are black

Question Type : MCQ
Question ID : 630680349310
Chosen Option : 3

Q.18 faega g15a & v & fog FAmfaf@a 9 | Fi9-91 FReE Toa 82
Ans X 1. fayggar

X 2. =M SR vR ufade

o 3. AR TG

< 4. &ifres y=Te SrTasgehdn

Question Type : MCQ
Question ID : 630680349303
Chosen Option : 3

—
Q.19 What is the correct use of normally closed contact?

Ans X 1.Internal programming
" 2. Stop button
75 3. Power buttons
X 4. Light switches

Question Type : MCQ
Question ID : 630680349285
Chosen Option: 3




Q.20 Which of the following types of power factor produces the following voltage and current relationships?

¢} v
o°

/

1
Ans X 1. Leading power factor

X 2. Lagging power factor
#5 3. Unity power factor

o 4. Zero power factor

Question Type : MCQ
Question ID : 630680349266
Chosen Option : --

Q21 Identify the following symbol representing a figure?

._?_.

Ans X 1.Potentiometer
¥ 2. Thermistor
< 3. Photo resistor

< 4. Polarized Capacitor

Question Type : MCQ
Question ID : 630680349284
Chosen Option : 3

Q.22 et & e d Rafaf@a d | e gderor 78 faear srar 82
Ans X 1. &afcT 7urEs (Cabling quality)

o 2. Sisel o1 AT (Coble color)

X 3. thad &t wrafaahdr (Cable functionality)

75 4. %ad &1 SrgEuar (Cable conformity)

Question Type : MCQ
Question ID : 630680349307
Chosen Option : 2




Q.23 What is the total watt rating of a room that has the following equipment connected?

a. one tube light point

b. one light point

c. two fan points

d. one 6 amps three pin socket

Ans o7 1.380W
X 2.650 W
X 3.405W
X 4.430W

Question Type : MCQ
Question ID : 630680349294

Chosen Option : 1

Q.24 <1 foReft vistae (project) & gt wrT, fRART & 99+ ¢t R G2 g4 &, at fhe UehR a1 oref wrera
Sitg (half lap joint) Iuah feraT STTaT &2

Ans o 1. fea-au Sig (Middle-lap joint)
X 2. fthars g S (Fixed lap joint)
X 3. ig-ag S (Cross-lap joint)
X 4. Us-3g g (End-lap joint)

Question Type : MCQ
Question ID : 630680349244

Chosen Option : 1

Q.25 fAAfaf@a d @ H9-91 vered, sAaAIR1T dies (electrician's solder) &1 IuahT ek faea
HTeTeh ot Site & fIg Iugwh gl &2

Ans o 1.3
X 2. S Fikizs
X 3. Tre s AfSE
75 4. 90% ST & 1T dgehd 10% BTSSR 3T

Question Type : MCQ
Question ID : 630680349249

Chosen Option : 1

Q.26 f=faf@d # @ -1 3id: vder Rew 3idh (Ingress protection digit), Y& 9 aT=Td, S T TAA
=& (dust tight no ingress of dust) <t g2ifar &2

Ans X 1.3
X 2.5
X 3.1
W 4.6

Question Type : MCQ
Question ID : 630680349306

Chosen Option : --




Q.27 1dentify the file name according to the given cut shape of the file in the figure.

Ans

25 1. Round file

/X 2. Triangle file
/5 3. Half round file
o 4. Flat file

Question Type : MCQ
Question ID : 630680349240
Chosen Option : 4

Q.28 What kind of chisel is used to carve slots, grooves, and keyways?

Ans

7< 1. Diamond point chisel
Z5 2. Half-round nose chisel
«" 3. Cross-cut chisel

75 4. Flat chisel

Question Type : MCQ
Question ID : 630680349241
Chosen Option : 2

Q.29 ffaf@a 7 @ foFe yeR & HerRa @1 IuTlT UHF, RF g1 & S1guaiT & forg faam e 82

Ans

X 1. uifergmex (Polyester)

X 2. ®rTet (Paper)

X 3. urged utferifUefi= (Metalized polypropyléne)
o 4. "I (Monolithic)

Question Type : MCQ
Question ID : 630680349261
Chosen Option : --

Q30 1dentify the symbol shown in the figure which is used in the power station?

Z5 1. Circuit breaker with isolator
75 2. Three winding transformer
Z5 3. Current transformer

& 4. Potential transformer

Question Type : MCQ
Question ID : 630680349274
Chosen Option : 1




¥ Rw v oy N # ged TRey iRy fBaer gem?

L
" R, =34 - R =102 &

56V H,=20 R, =32

H R =50

[ ]
=

Ans 7 1.9330
X 2.16350Q
X 3.46.45Q
X 4.80.56Q

Question Type : MCQ
Question ID : 630680349254
Chosen Option : --

Q.32 fhT UsR & Iudhs, divedr ot uRafdq forg famm urer wrg=i & f@fRT sitReE (switching
operations) &vd &?

Ans o 1. [T ks (Switching substations)
X 2. Qadhed Iudhz (Secondary substations)
X 3. =afé Judhg (Converting substation)
X 4. giawRieR Iudhs (Transformer substations)

Question Type : MCQ
Question ID : 630680349272
Chosen Option: 3

Q.33 Fr=fafEa & @ =41, urg 1 e orer T8 87
Ans X 1. Ucref & SITART T ag AT
X 2. fagd garas
o 3. SiaRkes siRM & 3oagi- ot U1
X 4. 3T, Toh URATY] F IR URATY] dch e deh I O i et §

Question Type : MCQ
Question ID : 630680349238
Chosen Option : 1

Q.34 yamadt ¥RT & fag fA=afaf@a § @ sa-ar sy a8 82
Ans X 1. fga gR=ror

25 2. 1k TuTeR W& 1 glaT @

X 3. ufaRte dhaer fAfsha urae gt @

o 4. AT G2 Ieerd B §

Question Type : MCQ
Question ID : 630680349262

Chosen Option : 4




Q.35 Which of the following statements is incorrect for concealed wiring?

Ans

#< 1. Protection against fire

" 2. Bad look of the electrical installation as the conduit is concealed
#5 3. Shock-proof installation

/X 4. Long life of installed cables

Question Type : MCQ
Question ID : 630680349293
Chosen Option : 2

Q.36 fr=faf@a & @ forw arer wiie (power plant) Fi aReTe T aga ifee gidl 82

Ans

X 1. a1ex UTeR wiie (Water power plant)

X 2. gfaerar uTer wiie (Nuclear power plant)
& 3. Ufe UTeR wiie (Thermal power plant)

X 4. Gier UTeR wiie (Solar power plant)

Question Type : MCQ
Question ID : 630680349271
Chosen Option : 2

Q.37 Which is the following cause that produces the symptoms of humming or chattering noise

Ans

in the contactor?
#5 1. Higher incoming supply rating.

X 2. Open in no-volt coil circuit
X 3. Auxiliary contact in parallel with the start-button is not closing

" 4. Low voltage

Question Type : MCQ
Question ID : 630680349283
Chosen Option : --




Q.38 ey &r 71 ety F T 2 FANT ST AT 9F UAE A (lead acid cell) F T AT FA L

CONNECTOR
CELL CONNECTOR

NEGATIVE PLATE
CONNECTCR

CONNECTOR CELL CONNECTOR = &aieel Hel Faigel
NEGATIVE PLATE CONNECTOR = HUIcH Soid Faidel

PARTITION = sy
Ans o 1. =i (Plates)

25 2. Ui zfi9at (Post terminal)
X 3. QX (Separators)
< 4. &R (Container)

Question Type : MCQ
Question ID : 630680349299
Chosen Option : 1

Q.39 STg ATeleh WR ahlg 3ATARUT (covering) g1, dY I8 T shgd &2
Ans X 1.@fAes amR (Laminated wire)

X 2. §geide dhad (Insulated cable)

o 3. TIR AR (Bare wire)

X 4. skae Fad (Direct cable)

Question Type : MCQ
Question ID : 630680349305
Chosen Option: 3

Q.40 240 V & %l gieear aret 3-thel, Hgfard 32T shaes Rven & g ars= ateean fora=it grfi?

Ans X1.415.7 V
X 2./3(240) V
X 3.2 (240) V
4 240 V

Question Type : MCQ
Question ID : 630680349267
Chosen Option : --




U Ay & ar§ gemmadt o B AR e ¥
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CURRENT (AMPERES) = umT (¥&am)
TIME (SECOND) = THT (TF3)
CYCLE = =&

Ans X 1.10Hz
X 2.50Hz
o 3.4Hz
X 4.25Hz

Question Type : MCQ
Question ID : 630680349263
Chosen Option : 1

Q.42 Which of the following types of network has inter-processor distance above 1000 km?
Ans X 1.Local area network

75 2. Wide area network
5 3. Metropolitan area net work

o 4. Internet

Question Type : MCQ
Question ID : 630680349301
Chosen Option : 2

Q.43 Which allows electricians and engineers to connect wires from assembled equipment to the
input/output connections on other equipment?

Ans X 1. Transformers and Power Supplies
X 2. Isolators
/X 3. Circuit breakers
" 4. Terminal blocks

Question Type : MCQ
Question ID : 630680349297
Chosen Option : 1




Q.44 Volt ampere reactive is a unit of
Ans  # 1.Imaginary power

X 2. Active power
/5 3. Apparent power
X 4. Real power

Question Type : MCQ
Question ID : 630680349268

Chosen Option : --

Q.45 fA=fafEa d @ #19-91 Yeha 3iTues a1e sikeae (wall outlets) & T&e1 i smagerdr & fag
e 87
Ans X 1. @ HifeiT 33 (Plugs falling out)

X 2. TraRt I 9fSht 9$s (Sparks or buzzing sound)
o 3. /=3 grie (Nice smell)
X 4. ?here a1t aim3eete (Cracked wall outlets)

Question Type : MCQ
Question ID : 630680349302

Chosen Option: 3

Q.46 fA=fafEe & 9 foFe verR o1 faraRor o1, "fAmfor & weRR (type of construction)” & anffervor &
Sierfd e 82
Ans & 1. fA7d 95 (Underground system)
X 2. 37 a7 (Radial system)
X 3. IRER Tag a7 (Interconnected system)

X 4. R (Ring system)

Question Type : MCQ
Question ID : 630680349287

Chosen Option : 4

Q.47 afe A gieedr 0.45 V g, at Sioft shwr A 512 59 A<t ZRT I3 ateear fora-h ghfi?
Ans X 1.32.1V

o 2.264V

X 3.15.4V

X 4.225V

Question Type : MCQ
Question ID : 630680349313

Chosen Option : 2




Q.48 fA=faf@«a d & 9-91 Y= PVC shsyge & fog ad 82
Ans X 1. 31 eft

o 2. GeTRuT ufeRiedt
25 3. SIfAR=h 9-Tuch IR &Y STTaThdT Tl gidl
< 4. 1fdes ggm

Question Type : MCQ
Question ID : 630680349295
Chosen Option : 4

Q.49 What occurs when there is hardware failure or a server software issue causes the system to
freeze, reboot?

Ans & 1. System failure
X 2. System effect
75 3. Power failure
5 4. Power down

Question Type : MCQ
Question ID : 630680349239
Chosen Option : 1

Q.50 srenfeieh shage Uy & g <Aaw fohe srTg & =ar o1 Ta- fohan Stren 87
Ans X 1.30mm

X 2.40mm
& 3.20 mm
X 4.10mm

Question Type : MCQ
Question ID : 630680349292
Chosen Option: 3

Q.51 A separate power circuit is taken, if the power load exceeds
Ans  # 1. Above 3000 W

X 2. Less than 500 W
/5 3.1500 W to 3000 W
X 4.500 W to 1500 W

Question Type : MCQ
Question ID : 630680349296
Chosen Option : 1




Q.52 f=faf@a 7 @ -t fagtear wener aidta S« & vares d af@fea w8 f st 82
Ans X 1.3 aTgh! ot a1l URUY # guek st

o 2. of 3R Rk gm qeramr & Tufgd g &

75 3. FIuid UehR S STTALT ATEeh! ehl GUTRRUT

75 4. TIeRTRT ST STaSYUT, Satag 9 Rich i fFsentur 30 dhet

Question Type : MCQ
Question ID : 630680349300

Chosen Option : --

Q.53 fz & it &y & 7 apY F FiT-@ FEI A F UK (chisel edge) F S §?

Question Type : MCQ
Question ID : 630680349243

Chosen Option : 2

Q.54 Which of the following classes of insulation has Maximum permissible temperature above
180°C?
Ans  # 1.ClassC
X 2.ClassF
X 3.Class A

X 4.Class H

Question Type : MCQ
Question ID : 630680349247

Chosen Option : --




Q.55 Which of the following applications is correct for an auto transformer?
Ans X 1. Use for distribution the supply

" 2. Use as a starter in three phase induction motor
/5 3. To transfer more power in substation

X 4. Use as instrument transformer

Question Type : MCQ
Question ID : 630680349281
Chosen Option : 2

Q.56 What number of lamps is required in series when 6 volt lamps operate with 240 V supply
with 5% tolerance?

Ans X 1.52
o 2.42
X 3.32
X 4.48

Question Type : MCQ
Question ID : 630680349304
Chosen Option : 2

Q.57 Which of the following parts of the sodium vapour lamp performs the role of providing the
ignition voltage initially and acting as a choke for limiting the current?

Ans  # 1. Leak transformer
/X 2. Coiled electrode
X 3. Capacitor
X 4. Vacuumed flask

Question Type : MCQ
Question ID : 630680349309
Chosen Option : 3

Q.58 W i (smoke detectors) & fA=faifEa & @ faa Rigia a1 Sughr fawar simar @2
Ans o 1. STIHTERRT WY (lonization detgctor)

< 2. 9 v9R Sg@a (Thermal expansion detector)

75 3. G ¥gae (Fusion detector)

X 4. fagd 9adea (Electrical sensing)

Question Type : MCQ
Question ID : 630680349290
Chosen Option : 2




Q.59 fA=fafEa & @ wF-H f3fS o= gt & oiik DC #Atext & haet &) uehR &Y 7ifey ve et 82
Ans X 1. thice ez fafd (Field diverter method)

25 2. IR ufaRty fAT=0T (Armature resistance control)
o 3. TS et fAfY (Series parallel method)
X 4. &= gt fafd (Field control method)

Question Type : MCQ
Question ID : 630680349280
Chosen Option : 3

Q.60 Which of the following is normally kept open and connected between earth and conductor?
Ans X 1.Earth wire

/X 2. Earth arrester
/X 3. Earth electrode
" 4. Earth switch

Question Type : MCQ
Question ID : 630680349273
Chosen Option : 1

Q.61 fA=fafEa & @ w9-ar1 IgErv Ay Rig @ gdfaqa g2
Ans o 1. 5T SIS T ST

X 2. fomte o wifem
X 3. RRuRk Gehe
X 4. wrufie ITAR wiet

Question Type : MCQ
Question ID : 630680349236
Chosen Option : 1

Q.62 Which of the following losses is considered in variable losses?
Ans X 1.Core loss

75 2. Eddy current loss
& 3. Brush contact loss

X 4. Hysteresis loss

Question Type : MCQ
Question ID : 630680349279
Chosen Option : 2




U3 A & g el F RE TR T e atew gutar T 32

Ans X 1. UTd afad (Angle box)
o 2. 31T (Through box)
< 3. & afe (Tee box)

X 4. s”Rae 9ia (Direct box)

Question Type : MCQ
Question ID : 630680349289
Chosen Option : 2

—

Q.64 Tfe 0.02F «nf¥ar & smaer 0.5 C g, af Wenfer & Ieu= aieedr o1 sifdehaw A1 faha=m gim?
Ans X 1.15V

o 2.25V
X310V
X 4.55V

Question Type : MCQ
Question ID : 630680349260
Chosen Option : --

Q.65 Which of the following is initially available in an electrical source, to move the free electrons
in a conductor?

Ans X 1. Magneto motive force
5 2. Linear force of current
/< 3. Gravitational force

«” 4. Electromotive force

Question Type : MCQ
Question ID : 630680349246
Chosen Option : 4

Q.66 Which of the following resistor colour codes defines the 20% tolerance?
Ans  # 1.None

X 2. Yellow
X 3. White
X 4. Violet

Question Type : MCQ
Question ID : 630680349311
Chosen Option : --




Q.67 Ffof@a & @ foradh swror gefear gidt &2
Ans X 1. GRE R A AT

X 2. @R & ufd SReehar

X 3. Tl o I Sy

o 4. ST

Question Type : MCQ
Question ID : 630680349235
Chosen Option : 4

Q.68 The process of depositing a metal on the surface of another metal by electrolysis is known
as

Ans X 1.Electrotyping

« 2. Electroplating
#< 3. Electrolytic capacitor

/X 4. Electro-refining of metals

Question Type : MCQ
Question ID : 630680349298
Chosen Option: 2

Q.69 Which of the following components of BOS assembly is used to sense the battery charge
and switch off the charging current and avoid damage?

Ans X 1.Inverter
«” 2. Charge controller
/X 3. Storage battery

Z5 4. Junction boxes

Question Type : MCQ
Question ID : 630680349314
Chosen Option : --

Q.70 Which of the following symbols define the tuning diode?

Ans
A | K
s I>|n

Question Type : MCQ
Question ID : 630680349312
Chosen Option: 3




Q.71 ugta R Sfgar 2011 F F=faf@a J @ e uwr d Fftafn @ gge == & ameg
fRrgia ok urRfWe gderor ur RnfEsr nfaw &2

Ans X 1.4RT16
o 2. 9R113
X 3.4Rr19
X 4.9r13

Question Type : MCQ
Question ID : 630680349251
Chosen Option : --

Q.72 et thet AteR i gomT | 3-ht Hier & fog R=faf@a & @ @=-a1 wue 1ea 82
Ans X 1. 3-Of Hiex ary ueref &t sad gt &

X 2. 3-G WieR wa: vadl gYdt &
X 3. 3-Thol AYeX UhGHT JelTgUl 3 hecll &
o 4. 3-The AR T 1 T[0TeR I et &

Question Type : MCQ
Question ID : 630680349265
Chosen Option : --

Q.73 Which of the materials is coated to iron for making the Galvanized iron sheet?
Ans X 1. Copper

75 2. Nickel
25 3. Aluminum

& 4. Zinc

Question Type : MCQ
Question ID : 630680349245
Chosen Option : 2

Q.74 Which of the following statements is incorrect for semiconductor?

Ans  # 1. Wires and cables are the most commen forms of semi-conductors.
X 2.1t has the characteristics of both the conductor and insulator
/X 3.1tis used to produce modern.electronic components

#5 4.1t has valence shells containing four electrons.

Question Type : MCQ
Question ID : 630680349250
Chosen Option : --




Q.75 foreft o= # iz & 31 uaett urg Y 37 (VANE) fFe UehR a1 o aheedt 82
Ans X 1. 7o e (Gravitational damping)

25 2. {3 =0T (Spring control)

X 3. I ra#HeA (Fluid damping)

o 4. a1g ayT 3w (Air friction damping)

Question Type : MCQ
Question ID : 630680349269
Chosen Option : --

Q.76 Which of the following defines number 2 in the given marking gauge diagram?

Ans X 1.Locking
X 2. Stock
X 3.Spur
" 4. Stem

Question Type : MCQ
Question ID : 630680349242
Chosen Option : 2

Q.77 @« & sifesar Faw & sgar udif@ (illumination), siffiwa =T ez & @y v g
TR 1Y 7Y RIVT & SIehATIUTe gielt &1
Ans o 1. 3afad sifarg &Y (The incident flux)

72X 2. IafSfa uehnar & faudta (Opposite to light émitting)
< 3. IfSfa uahtar &t (The light emitting)
X 4. G=nfda sifeyarg i (The corrected flux)

Question Type : MCQ
Question ID : 630680349308
Chosen Option : 2

Q.78 “A live portion of an electrical system gets accidentally connected to earth”, then it is called
as:

Ans  # 1. Earth fault
/X 2. Earth connection
/X 3. Earth electrode

X 4. Earth continuity conductor

Question Type : MCQ
Question ID : 630680349276
Chosen Option : 1




Q.79 =R faega ulkuy # fra weR @1 ar nfae 981 giar 8?
Ans X 1. 99U dR (Earth wire)

25 2. IR ar (Neutral wire)

o 3. 3¢ ar (Battery wire)

X 4. =g ar (Live wire)

Question Type : MCQ
Question ID : 630680349286
Chosen Option : 3

Q.80 f=faf@a & @ s9-w1 IE fFam, sae & SuR fAw1aw areies & st ar (clearances) &t
gRanfda &=ar &2

Ans o 1. FEE 77
X 2. e
X 3. frw 55
X 4. P33

Question Type : MCQ
Question ID : 630680349275
Chosen Option : --

Section : General Awareness

Q.1 The provision of ‘The idea of the rule of law’ was adapted from the constitution.

Ans X 1.Canadian
o 2. British

/5 3. United States
/5 4.French

Question Type : MCQ
Question ID : 630680349333
Chosen Option : 2

Q.2 gu=Srdt (UNDP) 3k 7 51 2023 ¥ Safaar & &9 d gfaw SRR Revea a=m= & afgarsit
Y FURH I o 2T W Teh TganT At i

Ans X 1. diuaehdiarE (PMKVY)
X 2. diug-yume (PM-PRANAM)
o 3. SUaTS-TTguegd (DAY-NULM)
X 4. digg @fAfdy (PM SVANidhi)

Question Type : MCQ
Question ID : 630680349315
Chosen Option : 4




Q.3 &Y FHrfurfere & arR & A=fafla & @ ol 97/@ su= ad /87

|. hruTiereRT AT & faenfaenT & Teal @ gt 81
II. sFrfarforest RerRierT & ufar Sw<erh gar @i

Ans X 1.ATgtIATgl
o 2.1 uTll S
X 3. %adll
X 4. Fad |

Question Type : MCQ
Question ID : 630680349334
Chosen Option : 2

Q.4 #fE< FIFA fa &vu 2023 & dstart Rafaf@a 7 @ fora 221 grr i e ofi?

1. sifefer
Il. gefids
Ans X 1.%aa I

o 2.1 uT Il =t
X 3. Fhad |
XKoaagiagn

Question Type : MCQ
Question ID : 630680349318
Chosen Option : --

Q.5 The Dibang Multipurpose Project, if completed, will be India’s largest and the world’s tallest

concrete gravity dam. It will be developed by

Ans X 1. National Thermal Power Corporation Limited
«” 2. National Hydro Power Corporation Limited
/X 3. Bharat Heavy Electricals Limited
#5 4. Power Grid Corporation of India Limited

Question Type : MCQ
Question ID : 630680349319
Chosen Option : --

Q.6 ydf e =1 Herdt e frer afaf@a d @ wa arg?
Ans X 1.8 g2

o 2. mei

X 3. meafid

X 4 gErsa

Question Type : MCQ
Question ID : 630680349327
Chosen Option : --




Q.7 CaS0,4.2H,0 represents the chemical formula of .
Ans  # 1.gypsum

X 2. plaster of Paris

/5 3. bleaching powder

X 4. alum

Question Type : MCQ
Question ID : 630680349331

Chosen Option : 4

Q.8 WA &FI SO 2011 & SIFER, FAfafEa § & e wsa 7 21 fehmgara 1000 & eifdes
Uqr?

Ans o 1. A0
X 2. s<iTe
X 3.7ar

X 4. fafesw

Question Type : MCQ
Question ID : 630680349329

Chosen Option : 2

Q.9 Fhforew gl sra & fha d@u @ d@dfda @2
Ans o 1. Ui

X 2. RSiwrse

X 3. smitrge

X 4. e

Question Type : MCQ
Question ID : 630680349332

Chosen Option : --

Q.10 Which among the following states is the largest producer of bauxite in India?
Ans X 1.Gujarat

/< 2. Maharashtra

& 3. Odisha

X 4. Assam

Question Type : MCQ
Question ID : 630680349330

Chosen Option: 2




Q.11 SIR. yaHFE F=fafEd # 9 o @« @ wafda &2
Ans X 1. 58

X 2. R

< 3. TSt

o 4. RS

Question Type : MCQ
Question ID : 630680349317
Chosen Option : 2

Q.12 2022 ¥ 3= frar war ‘s sifvar "@Tet & fAafefaa J @ forg of | wefda &2
Ans X 1.8

< 2. rfor

X 3. #fgen

o 4. ST

Question Type : MCQ
Question ID : 630680349316
Chosen Option : --

Q.13 "@ifla guraRe' 14 st SR A g foram mam am
Ans o 1. 8RUE

25 2. fRggare

X 3. U

25 4. Anrara

Question Type : MCQ
Question ID : 630680349324
Chosen Option : --

Q.14 fafaf@a 7 @ fora sig Fefvus ) ag == AT st @ Set g 7 AgaiRafor - s=1-mror &6
<Ishi & Ffeh - U i ofi?

Ans X 1. mEdt

X 2. gAY

X 3. dftereg
o 4. MR

Question Type : MCQ
Question ID : 630680349322
Chosen Option : 2




Q.15 FHRYF, ¥Ra &1 g M T4, Fafafaa J @ e wsa @ Sefda 82
Ans X 1.®Afcwd

X 2. WU

o 3. 3Ty U

X 4=

Question Type : MCQ
Question ID : 630680349323
Chosen Option : 4

Q.16 3= @ferl & g T s Teh FaT AT 2ER fFa= a=mar?
Ans X 1. Segamr

o 2. STTIE N Wefoi

X 3. 1w g

X A LA o

Question Type : MCQ
Question ID : 630680349320
Chosen Option : --

Q.17 FA=faf@a d@ @ &9 a1 YRd IRaR 1 snfderiiRe iy af &2
Ans X 1.1 91 & 28/29 HRedt deh

o 2.1 30 ¥ 31 A9 do
X 3.1 939 30 3 ah
KA1FIA3I A dh

Question Type : MCQ
Question ID : 630680349325
Chosen Option : --

Q.18 RMTet SN ETHR IR # fhe UahR & a1 & urar Simar 82
Ans X 1. 3wreiedfia geEgR aq

o 2. fug

X 3. Iwrfesy gofurdt a=

X A uddaq

Question Type : MCQ
Question ID : 630680349328
Chosen Option : --

Q.19 YRd A fFA=faf@a & @ = o faxfia = yra i wifges fifa i TREr & oy R &2

Ans o 1. R RSd §a (RBI)
< 2. TS (NABARD)
X 3. fssit (SIDBI)
X 4. ufedm §a (Exim Bank)

Question Type : MCQ
Question ID : 630680349326
Chosen Option : --




Q.20 ______ ¥ $ sfaar shust & R erfderr fafeer ararsy & gra A Tig g g

Ans

< 1.1868
X 2.1878
X 3.1848
o 4.1858

Question Type : MCQ
Question ID : 630680349321
Chosen Option : --




